
404,52

100

upad:28 o

RzutO-2
404,52

zw nB(Naw.Bit.)

szg nB(Po//Pg+Ż+K)

tpl nB(πp//Gπ+K+Ż)

nB(I//Gp//Gz+Ż+K)

pzw KWg(IPc)

zw KWg(IPc)SM

ss STSM(Pc)

6.90

(N10) 10 20 30 40

pzwtpl

0,3

3,7
4,0

8,7

10,4

12,0

100

RzutO-5
408,87

zw nB(Naw.Bit.)

szg

pl Gztpl Gz

pzw KWg(Łi+ok.Pc)

pzw KWg(Łi+ok.Pc)

szg KW(Pc)//SM(Łi)
zw SMKW(Pc)

pzw KWg(Łi//I)

zw ST(Pc)

pzw KWg(Łi)

pzw KWg(łi)

ST(Pc)

pzw KWg(Łi)

pzw KWg(Łi)//ST(Pc)

zw ST(Pc)

pzw KWg/SM(Łi)

nB(Ps,PdH,Ż,K,okr.cegieł,bet,G))

0,2

1,7
1,92,0

3,5

4,8
5,0

5,4

6,0

7,2

8,0
8,2

9,0

9,5

10,2

10,8

12,0

4.80

6.00


